-
O = H C
— O O O
or0|E ._-'.. 0 =!( ‘..-"o o'... O
O|1 H 0 <] 0 o= DA A N =1l ) = O
< ...I ..... .. ..-.-. -I
< | O = 040 [ = -
u U —
e ® v ®
200 CilO|& AfIE] =4 .
57% ZajE|d
7Hel j|')<5} MH f=50= o =0 Mel 22 BhHK| 2=
S0 LA 2hA PIES sl U &5 Al =
21X] At&(value chain) T 0|22 A|AT 9| X|& O+s-d
ol I 1ol I T 1Of =9 7| = XHEe
2HH0l| 0= FS £|ASt oleR olUX| 284S 2l £XtE Ji= NZE =F 2tE AEIX| A2 U=
M N == =
c I S c o = JlE Cisco Workload Optimization 21E M= A
Cisco HyperFlex® A|AH Manager, Cisco Intersight® 2ot AN A ot A|AT9|

SaaS A|AH 2| SHE Toloj L2

© 2022 Cisco and/or its affiliates. All rights reserved.



